Polish Club  Chap 6  Competitive Bidding


Chapter 6  Competitive Bidding

Aug. 19, 2022
Opp open 1B, we overcall 1D~2C: almost same as we open 
	1C(opp)
	X
	
	
	Same as we open 1C

	
	1D
	
	
	Same as we open 1D (11~17 4+D; 18~21 5+D), also including 8~10 5+D

	
	1H/1S
	
	
	Same as we open 1H/1S (8~17)

	
	1N
	
	
	Same as we open 1N, but 16-19, not promise C stopper

	
	2C
	
	
	Same as we open 2C (5+C & 4 M or 6+C), but 11~15

	
	2D
	
	
	Weak H suit (=bid 2H) or 20-21 BAL
(2D cannot means any one M, because of bridge law)

	
	3S
	
	
	any solid 7+card suit AKQXXXX without outside A or K, but no C half-stoppers (JXX or QX)

	
	3N
	
	
	Any one solid AKQXXXX, without outside A or K, with C half-stoppers (JXX or QX)

	
	4C/4D
	
	
	Same as we open, 2~4 losers, C+H/D+S 55+

	
	Others
	
	
	Same as we open


	1C(opp)
	X
	XX
	P
	Rubens Transfer. Very weak, or D suit

	
	
	
	1D/1H
	=bid 1H/1S, TR, 4+card H/S, may be only 3 HCP

	
	
	
	1S
	No 4 card M

	
	
	
	1N
	=bid 2C, Transfer, 5+C

	
	
	
	2C
	7-9 HCP, 5+C, normal raise

	
	
	
	2D
	5+D, GF, not transfer

	
	
	
	2H up
	Same as we open 1C without X/XX


	1D(opp)
	X
	
	
	T/O, promise 2M 43+ & 2+C, or STR 16+HCP

	
	1H/1S
	
	
	Same as we open 1H/1S (8~17)

	
	1N
	
	
	16-19, BAL, D stopper. 
Then normal Stayman

	
	2C
	
	
	C suit, 11-15, NAT.

Then 2D=ask, reply same as we open 2C.

	
	2D
	
	
	Weak H suit (=bid 2H) (2D cannot means any one M, because of bridge law)

	
	3C
	
	
	Tr 3D, Ask D stopper. Any one solid AKQXXXX, with at least outside one A or K, at most two outside A.

	
	3S/3N
	
	
	Same as as (1C) ?

	
	4C
	
	
	Good C&H 55+, 2-4 losers

	
	4D
	
	
	Good H&S 55+, at most 3 losers

	
	Others
	
	
	Same as we open


	1M(opp)
	X
	
	
	T/O, promise 4 card M’. 
If 3 card M’, must 14+HCP

	
	1S
	
	
	NAT, S suit, 8~17

	
	1N
	
	
	16-19, BAL, H stopper. Then same as we open 1N

	
	2C
	
	
	C suit, 11-15, NAT.

Then 2D=ask, reply same as we open 2C.

	
	2D
	
	
	D suit, 11-16, NAT.

Then 2M=ask 4 card M’, forcing to 3D

	
	2H
	
	
	(to 1S) NAT, 11-16HCP, NAT
Then bid 2S =INV 4H, or ask S stopper, forcing to 3H. Then reply 2N=S stopper & Max, bid new suit=Max, bid 3H=weak

	
	2M
	
	
	Michaels Cue, M’+m,55+ (may 54+), 6-11HCP or 12+HCP (but not 2-suit STR)
Then, 2N ask power, reply

3C/3D=6-8HCP with C/D

3H/3S=9-11, with C/D

3N=12-15, M’ with m 55+. Then 4C/4D=GF 
4C/4D=16+, with C/D

	
	2S
	
	
	(to 1H) Weak, 6+S
2N=ASK short, 3C=no short or Min
3D/3H/3S=short D/H/C

	
	3D/3H
	
	
	(to 1H/1S) Tr 3H/3S, ask H/S stopper. Any one solid AKQXXXX, with at least outside one A or K, at most two outside A.

	
	3S/3N
	
	
	Same as as (1C) ?

	
	4C
	
	
	(to 1H) C suit, PRE

(to 1S) C+H 55+, 2-4 losers

	
	4D
	
	
	(to 1H) D+S 55+, 2-4 losers
(to 1S) D suit, PRE

	
	Others
	
	
	Same as we open


First responses for we overcall 1H/1S over Opp 1B

Almost same as we open 1H/1S
	overcall 1H
	overcall 1S
	Meaning

	1S
	
	FOR, (1) 7+HCP & 4 cards S (2) 6+HCP & 5 cards S

	1N
	1N
	4-17HCP, FOR one round. 

(1) same as 1N forcing when we open 1M 
(2)13-14HCP, 2 card M, BAL. Then next 2N for INV 3N or INV 4H
(3) 15-17HCP, 2 card M, BAL. Then next 3N or 4H. (If want to play 3N with B stopper, please bid 1N first)

	2C
	2C
	Ask power (Modified Reverse Drury), need 2 more HCP than ordinary we open 1M.
Reply 2M=min at most 10 HCP; other=not min, 11+HCP

	2D
	2D
	(to 1B=1C or 1H) 2-level new suit, D suit, NF
(to 1B=1D) 10-12HCP, 4+cards M, no short, INV

	
	2H
	(to 1B=1m) 2-level new suit, H suit, NF

(to 1B=1H) 10-12HCP, 4+cards S, no short, INV

	2H
	2S
	7-9HCP, 3 or 4+card support, simple raise

	2S
	2N
	Mini-Splinter, 7-12 HCP. Then same as we open 1M

	2N
	3C
	Jacoby, 15-17 HCP, BAL, 4+card M. Then same as we open 1M, but two more HCP

	3C
	3D
	Bad Bergan, 4+M, 7-9 HCP, no shortness

	3D
	3H
	Good Bergan, 4+M, 10-12 HCP, no shortness

	3H/4H
	3S/4S
	PRE / to play,

	3S
	3N
	13-15 HCP, 4+card M singleton somewhere. Then same as we open 1M

	3N/4C/4D
	4C/4D/4H
	13-15, HCP, 4+card M, void in the bid (NT=S). Then same as we open 1M.

	4S
	
	To play

	4N
	4N
	RKC, trump is M


	1B(opp)
	1M
	X
	XX
	Same as 2C for no X

	
	
	
	Others
	All same as we open 1M (Rubens TR). If TR to B, then 10-12HCP, 4+cards M, no short, INV


	1C/1D
(opp)
	1H
	1S
	?
	Bid naturally


	1C
	1D
	X(negative)
	TR
	Same as  1D/1M(open)  (X)  ? (TR)
If TR to 2C, then Cue=INV


	1C
	1D
	1H
	TR
	Same as  1D(open)  (1H)  ? (TR)


	1m
	1H
	1S
	X
	8+HCP, 2 card H+honor, not guarantee 5+card m’

	
	
	2m’
	X
	8+HCP, 2 card H+honor, guarantee 5+card S


	1H
	1S
	2D
	X
	8+HCP, 2 card S with one honor, and 5+m


Overcall 2-level 

	1S
	2H
	P
	2N
	

	P
	3C/3D
	
	
	NAT and Min, NF

	
	3H
	
	
	Min, 6+card H

	
	3S
	
	
	Max, with short in S, could be 6 card H


	1S
	2H
	X(negative)
	XX
	2+ card H with honor, 8+HCP

	
	
	
	2S / 3S
	INV, fit in H / splinter short in S , 4+H

	
	
	
	2N
	LEB

	
	
	
	3C/3D
	NAT, NF

	
	
	
	3H/4H
	PRE


Against Opp Strong Opening (2C, 2N, Precision 1C)-almost same as we open
	1C(Str)
	
	
	
	Precision, 16+HCP, any shape

	
	X
	
	
	two M (44+)

	
	1D/1H/1S/2C
	
	
	Nature, suit

	
	1N
	
	
	Two m 55+ 

	
	2D~4D
	
	
	Same as we open 
(2D=any one M, 2H=H+any, 2S=S+m)


	1C(Str)
	P
	1D
	X
	D suit

	
	
	
	Others
	Same as (opp 1C=str) ? 
(1N=2m, 2D=any one M, 2H=H+any, 2S=S+m)


	2C(Str)
	X
	
	
	Nature, C suit

	
	2D~4D
	
	
	Same as we open 
(2D=Any one M, 2H=H+any, 2S=S+m)


	2C(Str)
	P
	2D
	X
	D suit

	
	
	
	2H/2S
	H/S suit, NAT

	
	
	
	2N~4D
	Same as we open

	
	
	
	P
	May be C


	2N(Str)
	X
	
	
	DONT style. Any one long suit

	
	3C
	
	
	C & any suit 55+

	
	3D
	
	
	D&M 55+

	
	3H/3S
	
	
	H&S 55+

	
	3S
	
	
	Long S suit


	2C(opp)
	
	
	
	Nature, C suit, such as Polish Club or Precision

	
	X
	
	
	T/O

	
	2D/2H/2S
	
	
	Nature, suit D/H/S

	
	2N
	
	
	16-19, BAL, C stopper

	
	3S/3N
	
	
	Same as 1C(opp) ??

	
	4C
	
	
	Good H&S 55+, at most 3 losers

	
	Others
	
	
	Same as we open


Balancing bid
	1B(opp)
	P
	P
	X
	Nature T/O. After X, then bidding new suit=14+CHP

	
	
	
	1N
	Nature, BAL, 13-15 HCP, not promise B stopper

	
	
	
	Others
	Nature, not same we open


We take-out double (Opp passed)

	1D
	X
	P
	2D
	Force 1 round, 13+HCP, Cue or two M 10+HCP

	
	
	
	2M
	8-10HCP, 5+card; 9-11HCP 4 card M

	
	
	
	3M
	11-12 4 cards M, or 10-11 5+M

	
	
	
	4M
	Semi-solid M suit, 6+M, 8-10 HCP

	
	
	
	3C
	INV, 9-11HCP, 6 card C, or 11-12HCP, 5card C

	
	
	
	1N/2N
	7-11/11-12 HCP


	1B
	X
	P
	1Y/2Y
	

	P
	1N (2N)
	Lowest NT, 19-21 HCP, with B stopper

	
	J  NT
	22-24 HCP, with B stopper

	
	(may J)new suit
	(1) Major: 2-level=7.5 tricks, 3-level=8.5 tricks
(2) Minor: INV to 3N. Ask B stopper


	1D
	X
	P
	1S
	

	P
	2D
	P
	2H
	Second suit 4+H (not worst)

	
	
	
	2S
	4+S, worst (0-2 HCP), other bids are not worst

	
	
	
	3C
	4+C (not worst)

	
	
	
	3D
	Western cue bid, Max


	1D
	X
	P
	1S
	

	P
	2S
	
	
	16-18HCP, no short or 14-15HCP with short

	
	3S
	
	
	19-21HCP, no short or 16-18HCP with short

	
	4S
	
	
	22-24HCP, no short or 19-21HCP with short


	1D
	X
	P
	1S
	

	2B
	2S
	
	
	14-15HCP no short,

	
	X
	
	
	16-18HCP, no short or 14-15HCP wtih short

	
	3S
	
	
	19-21HCP, no short or 16-18HCP with short

	
	4S
	
	
	22-24HCP, no short or 19-21HCP with short


	1D
	X
	P
	1S
	

	2N/3B
	3S
	
	
	16-18HCP, no short or 14-15HCP with short

	
	X
	
	
	19-21HCP, no short or 16-18HCP with short

	
	4S
	
	
	22-24HCP, no short or 19-21HCP with short


	1H
	X
	P
	1S
	

	P
	2H
	P
	2S
	4+S, worst (0-2 HCP), other bids are not worst

	
	
	
	2N
	Free, H stopper, 5+HCP

	
	
	
	3C
	4+C (not worst)

	
	
	
	3H
	FOR, 4 card S, Max, no H stopper

	
	
	
	3S
	Free, 5 card S, Max

	
	
	
	3N
	Max, 4 card S, H stopper


	1S
	X
	P
	2C
	

	P
	2S
	P
	3H
	3+card H

	
	
	
	2N
	NAT, about 5 HCP

	
	
	
	3C
	4+C, worst (0-2 HCP), other bids are not worst

	P
	3D/3H
	
	
	Semi-forcing


	1Y
	X
	P
	3B
	

	3Y
	X
	
	
	Western CUE, with 2 or 3 card Y


	1m
	X
	P
	2m
	

	P
	2B
	P
	J shift M
	Good M with m control

	
	
	
	2M (not J) then 4M
	Good M without m control


Take-out double (Opp raise or bid)

	1D
	X
	1S
	P
	

	1N
	X
	
	
	Take out

	
	2C/2H/2S
	
	
	NAT, 16+HCP, 7.5 tricks

	
	2D
	
	
	Western CUE, ask D suit control


	1D
	X
	1S
	X
	4+card S, penalty

	2D
	P
	P
	X
	Cooperative

	P
	2S
	
	
	Raise, 4+card S

	
	
	P
	?
	Same as 1S  2S  ?  (NHS)


	1M
	X
	2M
	X
	Responsive, then bid 3M’= 4 card M’, 10-11 HCP

	
	
	
	2N
	LEB, weak, one suit

	
	
	
	3C/3D
	9-11HCP, NF, INV

	
	
	
	3M’
	9-11 HCP, INV, 5 card M’


	1H
	X
	1N
	X
	10+HCP, BAL or semi-BAL, PEN

	
	
	
	2C/2D/2S
	NF, NAT

	
	
	
	2N
	55+ minors

	
	
	
	3C/3D/3S
	INV

	
	
	
	3H
	Western cue bid


	1B
	X
	New suit
	X
	PEN, (for 1B is not 1C)

	
	
	J new suit
	X
	T/O, because J=6+ card


	1B
	X
	New suit
	 P
	

	P
	X
	
	
	T/O


We Overcall NoTrump

	1A
	1N
	P
	?
	Reply normal Stayman


	1A
	1N
	Any
	?
	Same as we open 1N (15-17)  opp overcall


	1A
	P
	P
	1N
	13-15HCP, BAL, Reply normal Stayman


	1A
	P
	P
	X
	

	 P
	1S/2m
	P
	1N/2N
	16-19 HCP


	2A
	2N
	
	
	16-18, BAL

	
	
	P
	?
	Normal Stayman, TR, 3S=ASK m


	1C
	1D
	1N
	X
	Take-out, power

	
	
	
	2M
	NAT

	
	
	
	2C
	2M


4th seat’s action (partner passed)
	1A
	P
	1B/2B
	X
	T/O, another two suits 44+, 11+HCP

	
	
	
	2A
	Another two suits, at most 10 HCP, 55+

	
	
	
	2B
	Another two suits, 11+HCP, 55+

	
	
	
	P
	If you have B suit, pass first, then bid 2B or 3B

	
	
	
	1N
	(not passed) 16-19, BAL. Reply normal Stayman
(passed) Other 2 suits, 55+, weak

	
	
	
	Others
	Natural


	1B
	P
	1N
	X
	15+HCP, or T/O

	
	
	
	2B
	(to B=m) Michael Cue-bid, 2M
(to B=M) Michael Cue-bid, M’+m


	1M
	P
	3C/3D
	
	(Opp) Good or bad Bergan

	
	
	
	X
	15+HCP, T/O, promise M’, not shows C or D.


	1D
	P
	1H
	P
	

	2D
	P
	P
	2H
	NAT, NF


	1H
	P
	1S
	P
	

	2D
	P
	2H
	X
	Same as 1H  P  2H  X (4 card S)

	
	
	
	2S
	5 or more S


We open, Opp bid on 4th seat
	1H
	P 
	1S
	2D
	

	P
	P
	3C
	
	NF, normally 6+C, 4 cards S

	
	
	3D
	
	GF

	
	
	X
	
	T/O, 10+HCP, opener can pass for penalty

	2B
	P
	3C
	
	Invitation, 10+HCP, normally 5+C, 4 cards S

	
	
	3D
	
	GF, the only way for GF after X


Deferred Unusual Notrump 2N/4N

	1M
	2C
	2M
	P
	

	P
	X
	
	
	Take out, 4 card M’

	
	2N
	
	
	Take out, 6 card C & 4 card D (because of C suit)


	1M
	2D
	2M
	P
	

	P
	X
	
	
	Take out, 4 card M’

	
	2N
	
	
	Take out, 6 card D & unknown 4 card suit


	1M
	2D
	4M
	P
	

	P
	4N
	
	
	T/O, 6 card D & unknown 4 card suit (may 75)


	1S
	2H
	2S
	P
	

	
	2N
	
	
	Take out, 6 card H & unknown 4 card m


	1C
	1D
	2C
	P
	

	P
	X
	
	
	Take out, 4 card S or H

	
	2N
	
	
	Take out, 6 card D & 4 card H (because of D suit)


	1m
	1D/1M
	2m
	P
	

	
	2N
	
	
	Deferred Unusual Notrump, 64


	1D/1H(we)
	1M
	P
	2M
	

	2N
	
	
	
	Deferred Unusual Notrump, 64


Meanings of 2N

The meanings of 2N are explained according to the following priority:

(1) Special convention

(2) Lebensohl (LEB, Good/Bad 2N): RHO bid or X, or pd X on 2-level
(3) Two suits: when not LEB (RHO bid or pd X on 2-level)
(4) Natural meaning (stopper on Opp’s suit): only when RHO not bid and pd not X on 2-level
Meanings of 2N when we open

	1N
	2B
	2N
	
	LEB, for B=M or B=m


	1m
	2B
	2N
	
	LEB, may fit m or have a long suit

	
	
	3m(not jump)
	
	INV

	
	
	3m(jump)
	
	PRE


	1D
	2C
	2D
	
	NAT, support D, 7~9 HCP

	
	
	3C
	
	INV+, support D, no C stopper. 
If GF, may have C stopper.

	
	
	3D
	
	PRE

	
	
	2N
	
	LEB, TR 3C. Then bid 3D=INV, with C stopper


	1D
	2H
	2N
	
	LEB, long C or fit D, competitive

	
	
	3C
	
	NAT, Forcing

	
	
	3D
	
	INV


	1C
	2D
	2N
	
	LEB, may fit C, competitive

	
	
	3C
	
	INV


	1M
	2B (B<M)
	2N
	
	LEB

	
	
	3B
	
	At least INV 4M, with 4+card M

	
	
	3M(jump)
	
	PRE

	
	
	X
	
	After X, then 3M=INV with 3 card M


	1H
	2S
	2N
	
	LEB, long C/D, or fit H, competitive

	
	
	3H
	
	INV 4H, 3+H

	
	
	3-new suit
	
	FOR, NAT


	1B
	1Y/2Z/X
	2B
	P
	

	2N
	
	
	
	NAT, only when RHO not bid


	1D
	2S
	X
	P
	

	2N
	
	
	
	LEB, because pd has X


	1S
	2D
	P
	P
	

	X
	P
	2N
	
	NAT, Max, but less than response power

(because not LEB and not two suits)

	
	
	2H/3C
	
	NAT, less than response power


	1S
	2H
	P
	P
	

	X
	P
	2N
	
	Two suits (because not LEB)


	1D
	P
	2C
	2S
	

	P
	
	
	
	Min. Pass first if min and S stopper

	X
	
	
	
	Penalty

	2N
	
	
	
	LEB (want to compete 3C or 3D)

	3N
	
	
	
	NAT, Max and S stopper

	3C/3D
	
	
	
	Not Min


	1D
	P
	2C
	2S
	

	P
	P
	2N
	
	NAT, because RHO not bid

	
	
	3C/3D
	
	Competitive

	
	
	X
	
	Penalty


	1D
	P
	2D
	2S
	

	3D
	
	
	
	Not Min

	2N
	
	
	
	LEB (want to compete 3D)

	X
	
	
	
	T/O

	
	P
	2N
	
	LEB


	1D
	P
	2D
	2S
	

	P
	
	
	
	If have S stopper and min, pass first

	
	P
	2N
	
	NAT, because RHO not bid

	
	
	X
	
	If want to play 3N, X first


	1D
	P
	2D
	2S
	

	P
	P
	X
	P
	

	2N
	
	
	
	NAT, S stopper and min (because not LEB)


Meanings of 2N when Opponents open

	1B
	1Y/2Z/X
	P
	2N
	NAT, only when RHO not bid


	1B
	1Y/2Z/X
	2A/2B/X
	2N
	LEB, because RHO have bid

	
	
	
	3N
	NAT, to play


	2B
	X
	P
	2N
	LEB, because pd’s X


	1S
	X
	2S
	2N
	LEB

	
	
	
	X
	Response X

	P
	2N
	
	
	Two suits (because not LEB)


	1S
	X
	2S
	P
	

	P
	X
	P
	2N
	Two suits (because not LEB)


	1S
	P
	2S
	X
	

	P
	2N
	P
	
	LEB (because pd X on 2-level)


	1S
	P
	2S
	P
	

	P
	X
	P
	2N
	Two suits (because not LEB)


	1S
	2H
	2S
	2N
	LEB, long m suit or fit H, competitive

	
	
	
	3H
	INV 4H


	1S
	2m
	2S
	2N
	LEB, other long suit or fit m, competitive

	
	
	
	3m
	Invitation


Invitation or competition
(1) All jump raises are preemptive.
(2) For any suit B, if RHO’s bidding is below 2N: 

(a) Any new suit on 2-level or 3-level is forcing.

(b) 3B (not jump) is invitational.

(c) 2N is LEB (may want to compete 3B or a new long suit on 3-level.).

(3) For any suit B, if RHO’s bidding is above 2N (say 3Y):

(a) 3B is competitive.

(b) If there is space between 3B and 3Y:

(b.1) X is penalty

(b.2) New suit 3Z is invitation for 4B (if two or more choices, bid the stronger one)

(c) If there is no space between 3B and 3Y:

(c.1) X is invitation for 4B (when B=M) or 3N (when B=m).

	1H
	1S(opp)
	2H
	2S
	

	2N
	
	
	
	LEB, competitive for 3H

	3C/3D
	
	
	
	INV 4H, power in C/D

	3H
	
	
	
	INV 4H


	1H
	2C(opp)
	2H
	3C
	

	X
	
	
	
	INV 4H, tend to short C. May be passed as penalty.

	3D
	
	
	
	INV 4H

	3H
	
	
	
	Competitive


	1H
	2D(opp)
	2H
	3D
	

	X
	
	
	
	INV 4H

	3H
	
	
	
	Competitive


	1C
	2S(opp)
	3C
	3S
	

	X
	
	
	
	INV 3N, ask for S stopper


	1H(opp)
	1S
	2H
	2S
	

	3H
	3S
	
	
	Competitive

	
	X
	
	
	INV 4S


High level bidding
	2B
	2Y/3Z
	P
	new M suit 
	Developable, NF, NAT

	
	
	
	new m suit 
	FOR , NAT 

	
	
	
	3B
	FOR, request to bid 3N with B help


	2A
	2B/3B
	3A
	X
	Fit B, better than raise, INV


	2D/2H
	2S
	3D/3H
	X
	Fit S, better than 3S, INV


	3D
	X
	3N
	X
	Penalty

	
	
	
	4H/4S
	To play

	
	
	
	4D
	Re-take out, 2 M

	
	
	
	4C
	NAT, INV


	3H
	X
	4H
	5C
	

	P
	5D/5S
	
	
	Nature, to play

	
	5H
	
	
	Try for 7C, first control on H. Responder should cue bid to suggest suitable hand

	
	
	
	5N
	Grand slam forcing on trump (request 2 honors)


	3H
	3N
	P
	5C/5D
	To play


	3H
	3N
	X
	XX
	To play, good hand, 7+HCP

	
	
	
	4S
	To play

	
	
	
	4C/4D
	6 card C/D, weak

	
	
	
	4H
	5 card S & 5 card minor

	
	
	
	P
	Nothing to say

	P
	XX
	
	
	2 minors


	3B
	P
	P
	3N
	

	P
	4C
	
	
	BARON, GF, ASK for 4 card, reply 4N=4 card C

	
	4N
	
	
	13-15 INV

	
	4B/4suit
	
	
	Short, 3-suiter, may 5431 / 6+ card, GF

	
	
	P
	4N
	RKC

	
	
	
	Suit
	NAT


	3S
	4C
	P
	4D
	GF

	
	
	
	4H
	To play


	3B/4B
	4H
	P
	4S
	CUE, fit H, try slam

	
	
	
	4N
	RKC

	
	
	
	5C/D
	FOR, cue bid, slam try

	
	
	
	5H
	Slam try, no B control

	
	
	
	5N
	Grand slam forcing on trump (request 2 honors)


	2M/3M
	4N
	
	
	2 Minors

	 (OPP)
	P
	P
	4N
	2 Minors


	4C/4D

(OPP)
	4N
	
	
	Blackwood


	4H
	X
	P
	P
	Nothing to say

	
	
	
	4S/5C/5D
	UNBAL with some strength


Take-out on 4-level or 5-level (X=short)
針對敵方於4線或5線叫牌，我方高階競叫迫伴賭倍：
第一型(type 1)：我方單一牌組或雙牌組(同伴沒支持)，敵方牌組配合，或單一牌組(敵方同伴沒支持)：

(a) 我方持單牌組或雙牌組者，任意位置：X=敵牌組是單缺，迫伴，想繼續叫牌(不一定是防禦力量強，而是想進一步聽同伴意見。第一次已經叫出之牌組通常6張以上，或兩門55以上) ；同伴持敵方牌組力量時，可罰放。

(b) 我方另一人，任意位置：X＝處罰
第二型(type 2)：我方牌組配合(有互相支持過)，敵方牌組配合，或單一牌組(敵方同伴沒支持)：

(a) 直接位置：
X=敵組是單缺，迫伴，想繼續叫牌(不一定是防禦力量強，而是想進一步聽同伴意見)；同伴持敵方牌組力量時，可罰放。
      P=不想繼續叫牌，可能無力量，或敵組非單缺，或想處罰敵方
(b) 平衡位置：X＝處罰
When Opp bids 4-level or 5-level, our bidding may be take-out or penalty:
Type 1: Only one of us bids (1 or 2 suits), Opps fit a suit or not fit:
(a) The one bidder of us, at any position:  X=take-out
(b) The other of us (not bid), at any position: X=penalty
Type 2: Both of us agree one suit, Opps fit a suit or not fit:

(a) Second position:  X=take-out

(b) Balanced position: X=penalty

	1H
	1S
	P
	4S
	

	X
	
	
	
	Type 1. (direct position) We strong H, short S, T/O

	P
	P
	X
	
	Penalty


	1H

	4S
	P
	P
	

	X
	
	
	
	Type 1. (balanced position) We strong H, short S, T/O


	1H
	4S
	X
	
	Type 1. Penalty


	1H
	1S
	2H
	4S
	

	X
	
	
	
	Type 2. (direct position) We fit H, short S, T/O, want to bid 5H. Then, pd can pass if he has power on S.

	P
	
	
	
	(direct position)We fit H, do not want to bid 5H. May low power, or not short S, or want to penalty. 

	
	P
	X
	
	(balanced position) We fit H, penalty


	1S
	X
	2S
	3C
	

	4S
	X
	
	
	Type 2. (direct position) T/O, short S


One down law
	2D / 2H weak 2 or mut 2 open
	3S or 4S
	
	
	One down law


	1C/1D/1H
	 P
	2C/2D/2H
	 3S or 4S
	2-3 law


Double for direction of open leading

Rule for leading direction double to Opp 3N

(1) If we have bid one suit, or not bid any suit, lead the first suit of dummy (do not our suit; otherwise, if dummy did not bid suit, lead the first suit of declarer).
(2) If we have bid 2 suits, lead the suit of that makes the double
Rule for leading direction double to Opp slam (Lightner)

(1) Do not lead the suit that we have bid.

(2) If dummy had bit other suit, lead the first other suit.

(3) Otherwise, lead the first other suit that declarer has bid.

(4) Otherwise, lead the suit abnormally (partner may be void, or AK)

Rule for leading direction double to Opp Splinter
(1) Lead the suit lower ranking than the Splinter (short).

	1N(opp)
	 P
	2N/3N
	X
	Ask to lead S (next lower ranking suit)


	1N
	 P
	2D
	 P
	

	2H
	 P
	2N/3N
	 X
	Ask to lead C (next lower ranking suit)

Not to lead D, because no X on 2D


	1N
	 P
	2H
	 P
	

	2S
	 P
	2N/3N
	 X
	Ask to lead D (next lower ranking suit)

Not to lead H, because no X on 2H


	1H
	1S 
	P
	3N
	

	P
	P
	X
	
	ASK to lead S (dummy’s suit) 


	1D
	1S 
	P
	2H
	

	P
	2N
	P
	3N
	

	X
	
	
	
	ASK to lead H (dummy’s suit) 


	1D
	2C
	2H
	2S
	

	P
	2N
	P
	3N
	

	X
	
	
	
	ASK to lead D (doubler’s suit)


	1H
	1S 
	2C
	3N
	

	P
	P
	X
	
	ASK to lead C (doubler’s suit) 


	1H
	 P
	4C=Splinter
	 X
	Ask to lead S (next lower ranking suit)


	1S
	 P
	4D=Splinter
	 X
	Ask to lead C (next lower ranking suit)


	1H
	 P
	3N=Splinter
(short S)
	 X
	Ask to lead D (next lower ranking suit)


	1B
	1A/2A
	 P
	2B/3B (CUE)
	

	X
	
	
	
	Ask not to lead B (Do not X if want B)


	3D(longH,we)
	X
	P
	3H (CUE)
	CUE

	X
	
	
	
	Ask not to lead H (H is headed by QJ)


	1M
	1A/2A
	 P
	Any
	

	P
	3M
	X
	
	Ask to lead M (to show support M)


Stoppers on two suits of Opponent
Suppose that two suits of Opp are known:

(1) Cue bid the cheapest suit A: ask stopper of A (do not know B stopper)

(2) Cue bid the other suit B: have stopper of A, ask stopper of B

	1D
	2D(=2M) 
	2B/3B
	2Y/3Y
	

	3H
	
	
	
	Ask H stopper (do not know S stopper)

	3S
	
	
	
	Have H stopper, ask S stopper


	1C
	1S 
	2C
	2D
	

	2S
	
	
	
	Ask S stopper (do not know D stopper),
may fit C, Cue

	3D
	
	
	
	Have S stopper, ask D stopper


Against multi 2D (one M weak)-Polish Club Style
	2D
	X
	
	
	T/O to S suit. Same as T/O of 2S. (a) 12-15, at least 3+card in every other suit (b) 16+HCP UNBAL (c) 19-21BAL

X then 2N=19-21HCP.  Your partner 2N=LEB

	
	Suit
	
	
	Nature (including 3C/3D)

	
	2N
	
	
	16-18 BAL, then Normal Stayman & TR, 3S= Ask m

	
	3H/3S
	
	
	Suit, semi-strong (one down law)

	
	3N
	
	
	To play

	
	4C/4D
	
	
	Leaping Michaels, 55+, C/D & M, about 4 losers

	
	4H/4S
	
	
	H/S Suit, semi-strong (one down law)

	
	4N
	
	
	55+, C & D


	2D
	P
	2H
	X
	11+HCP, T/O for 2H. Your partner 2N=LEB

	
	
	
	2N
	16-18, BAL, then Noraml Stayman & TR, 3S= Ask m

	
	
	
	suit
	Nature (including 3D)

	
	
	
	3S
	Suit, semi-strong (one down law)

	
	
	
	3N
	To play

	
	
	
	4C/4D
	Leaping Michaels, 55+, C/D & M, about 4 losers, 

	
	
	
	4H/4S
	H/S Suit, semi-strong (one down law)

	
	
	
	4N
	55+, C & D


	2D
	P
	2H/3H/4H
	P
	

	P
	X
	
	
	T/O to H suit. Same as T/O of 2H. If not X on 2D, but X on 2H/3H/4H=T/O of 2H


	2D
	X
	P
	2H
	4+card H

	
	
	
	2S
	6+card S, because partner may short S.

	
	P
	
	
	T/O of 2S

	
	2N
	
	
	19-21, BAL


	2D
	X
	2H/2S/3H 
	X
	Penalty, because partner may short S & some H


	2D
	X
	2H
	P
	

	P
	X
	
	
	Penalty, because may short S & some H


	2D
	X
	2H
	P
	

	2S
	X
	
	
	T/O, because first X on 2D=T/O on S


	2D
	P
	2H/2S
	P
	

	2S/P
	X
	
	
	Penalty, because first pass on 2D=some S


	2D
	P
	2H/2S
	X
	T/O for H/S


	2D
	P
	2H
	P
	

	2S
	P
	P
	X
	T/O, because cannot X on 2H


Against multi 2M(M weak or M+other)
	2H/2S
	X
	
	
	T/O. (a) 12-15, at least 3+card in every other suit (b) 16+HCP UNBAL (c) 19-21BAL

X then 2N=19-21HCP.  Your partner 2N=LEB

	
	Suit
	
	
	Nature

	
	2N
	
	
	16-18 BAL, then normal Stayman & TR, 3S= Ask m

	
	3H
	
	
	(to 3H) ask H stopper

	
	3S
	
	
	(to 3H) S suit, semi-strong (one down law)

	
	3S
	
	
	(to 3S) ask S stopper

	
	3N
	
	
	To play

	
	4C/4D
	
	
	Leaping Michaels 55+, C/D & M’, about 4 losers

	
	4H/4S
	
	
	H/S Suit, semi-strong (one down law)

	
	4N
	
	
	55+, C&D


Against Opp’s Transferring Bid (Open 3C=weak 3D)

	3C(opp)
	
	
	
	Weak 3D, or other strong suits

	
	X
	
	
	16+HCP, BAL or take-out for D suit. If want to punish 3D, then please pass first.

	
	3D
	
	
	Take-out for D suit

	
	3N
	
	
	22-24, to play

	
	Others
	
	
	Same as 3D(opp) ?


	3C(opp)
	 P
	3D
	P
	

	
	X
	
	
	Still Take-out, but weaker

	
	3N
	
	
	16-18, to play

	
	Others
	
	
	Bid at balanced position (weaker)


	3C(opp)
	X
	3D
	X
	Penalty


	3C(opp)
	X
	3D
	P
	

	P
	X
	
	
	Take-out again


	3C(opp)
	 P
	3D
	X
	Take-out for D suit


Against Opp’s 3-level

	3m(opp)
	3N
	P/X
	4C
	55+M

	
	
	
	4D/4H
	Transfer 4H/4S, H/S suit

	
	
	
	4S
	m’ suit (the other suit), strong


	3M(opp)
	3N
	P/X
	4C
	Transfer 4D, D suit

	
	
	
	4D
	(M=H)Transfer 4H, 4441 single H

	
	
	
	4D
	(M=S)Transfer 4H, H suit

	
	
	
	4H
	(M=H)Transfer 4S, S suit

	
	
	
	4H
	(M=S)Transfer 4S, 4441 single S

	
	
	
	4S
	2m, 55+


Leaping Michaels (Opp open weak 2-3 or raise, we 4C/4D at any position)
	2D/2M/3M
	
	
	
	2D=one M weak, 2M=NAT or M+other, 3M=weak

	
	3M
	
	
	(to 2M) ask M stopper. Not Michaels

	
	4C/4D
	
	
	Leaping Michaels, 55+, C/D & one M, about 4 losers

	
	4M’
	
	
	Nat, suit, about 4 losers (one-down law)

	
	4N
	
	
	55+, C&D, about 4 losers


	2D/3m
	
	
	
	2D=weak D, 3m= weak m suit

	
	4m
	
	
	Leaping Michaels, 55+, H & S, about 4 losers

	
	4m’
	
	
	Leaping Michaels, 55+, m’ & one M, about 4 losers

	
	4M
	
	
	Nat, suit, about 4 losers (one-down law)


	2D
	
	
	
	2D=one M weak

	
	4C
	P
	4H/4S
	Pass or correct

	
	
	
	4D
	Ask M and losers, slam try. Then side suit=CAB

	P
	4H/4S
	
	
	H/S suit, 4 or 5 losers

	
	4N/5C
	
	
	H/S suit, 3 losers

	
	5H/5S
	
	
	H/S suit, 2 losers


	2D
	
	
	
	2D=one M weak

	
	4D
	P
	4H/4S
	Pass or correct

	
	
	
	4N
	Ask M and losers, slam try Then side suit=CAB.

	P
	5C/5D
	
	
	H/S suit, 4 or 5 losers

	
	5H/5S
	
	
	H/S suit, 3 losers


	2H/3H
	
	
	
	2H=NAT or H+other, 3H=weak

	
	4D
	
	
	55+, D & S, about 4 losers

	
	
	P
	4H
	Ask losers, slam try. Then side suit=CAB.

	P
	4S/4N/5C
	
	
	4 or 5 / 3/ 2 losers


	2S/3S
	
	
	
	2S=NAT or S+other, 3S=weak

	
	4D
	
	
	55+, D & H, about 4 losers

	
	
	P
	4S
	Ask losers, slam try. Then side suit=CAB.

	P
	4N/5C/5D
	
	
	4 or 5 / 3/ 2 losers


Note: For opp opening or replying at 2-level, or 3-level, our 4C/4D is always Leaping Michaels at the direct or balanced position. Examples: 
	2D/2M/3M
	  P
	P
	4C/4D
	Leaping Michaels


	1D
	  P
	3D
	4C/4D
	Leaping Michaels


	1H
	  P
	3C/3D

/2H/3H
	
	Bad/Good Bergan, simple raise, PRE

	
	
	
	4C/4D
	Leaping Michaels


Against 2D/2H (two M weak, or Flannery 5+H & 4 S or 44+)
	2D(opp)/
2H(opp)
	
	
	
	Two M, 44+, Flannery, 11+ (or weak)

	
	X
	
	
	(to 2D) D suit, or one m & 17+HCP

	
	2H
	
	
	(to 2D) 2m, not same length.
Then 2S ask (not invite), or 2N ask (invite)

	
	X
	
	
	(to 2H) (1) 2m, not same length. (2) one m, 17+HCP
Then 2S ask (not invite), or 2N ask (invite)

	
	2S
	
	
	2m, same length, weak or strong, 55+ & 6+HCP, or 44 & 13+HCP. Then responder 2N=invite & ask. 

	
	2N
	
	
	16-19 BAL, stopper in 2M, then 3S= Ask m

	
	3C/3D
	
	
	11-16 HCP, C/D suit 

	
	3H
	
	
	Ask H stopper, 8~9 tricks

	
	3S
	
	
	Ask S stopper, 8~9 tricks, with H stopper

	
	3N
	
	
	To play

	
	4C/4D
	
	
	Suit, (1) if 2D/2H=weak, then one down law (2) if 2D/2H=open power, then weak & 2-3 law.

	
	4N
	
	
	2m, (1) if 2D/2H=weak, then one down law (2) if 2D/2H=open power, then 2-3 law.


	2D(opp)
	2H
	P
	2S
	2S ask (not invite)

	
	3C/3D
	
	
	Longer C/D


	2D(opp)
	2H
	P
	2N
	2N ask (invite)

	
	3C/3D
	
	
	Min (8-11), longer C/D, 54+

	
	3H/3S
	
	
	Max (12+), longer C/D, 54+


	2H(opp)
	X
	
	2S
	ask (not invite)

	
	2N
	
	
	2m, not same length. Then 3C=P/C

	
	3C/3D
	
	
	C/D suit, 17+HCP.


	2H(opp)
	X
	
	2N
	2N ask (invite)

	
	3C/3D
	
	
	Min (8-11), longer C/D, 54+

	
	3H/3S
	
	
	Max (12+), longer C/D, 54+

	
	4C/4D
	
	
	C/D suit, 17+HCP.


	2D(opp)/
2H(opp)
	
	
	
	

	
	2S
	
	2N
	

	
	3C/3D
	
	
	55+, min(6-8)/middle(9-11). Then 4m=RKC 

	
	3H
	
	
	Max, 13+, 44, ask H stopper (may have or not have S stopper). 

(a) If responder has H stopper, no S stopper, then 3S=ask S stopper.
(b) If responder has H & S stopper, then 3N=to play.

(c) If responder has no H stopper, then bid 4m=RKC. 

	
	3S
	
	
	Max, 13+, 44, ask S stopper (have H stopper)

(a) If responder has S stopper, then 3N=to play.

(b) If responder has no S stopper, then bid 4m=RKC. 

	
	3N
	
	
	Max, 12+, 55+. Then 

(a) If responder has H & S stopper, then pass=to play.

(b) Responder 4m=RKC


Opponent 2-suit Overcalls (Michaels Cue, or any 2-suits)
Rule for bidding (suppose Opp 2 suits=A lower &B higher)
(1) Bid our suit=To play, not max

(2) Cue bid A=our lower suit, INV+; Cue bid B=our higher suit, INV+;
	1C/1D
	2C(opp)/

2D(opp) 
	
	
	1C=Nature or Polish Club

Michaels Cue, 2C=2M, 2D=2M 

	
	
	2D
	
	(to 1C-2C), D suit, F1

	
	
	X
	
	(1) Nature, 5+card suit of the bid, 7-9
(2) Have 1M or 2M suit, want to punish
(3) Want to play NT, X first. Then Cue ask stoppers

	
	
	2H
	
	C suit or fit C, INV+

	
	
	2S
	
	D suit or fit D, INV+

	
	
	2N
	
	LEB, TR 3C, C or D suit, NF

	
	
	3C/3D
	
	7-9, C/D suit or fit suit 

	
	
	3H/3S
	
	Fit m suit, GF, short H/S

	
	
	3N
	
	NAT, 2M stoppers, to play

	
	
	4C/4D
	
	PRE (because not Cue suit of Opp)

	
	
	4H/4S
	
	RKC, fit m suit, excluding H/S


	1m
	2N(opp) 
	
	
	1C=Nature or Polish Club
To 1C, 2N=H+D; to 1D, 2N=H+C

	
	
	X
	
	(1) Want to punish one or two suits of Opp
(2) Want to play NT, X first. Then Cue ask stoppers

	
	
	3m
	
	m suit, NF

	
	
	3m’
	
	m suit, INV+

	
	
	3H
	
	S suit, INV+

	
	
	3S
	
	S suit, NF

	
	
	3N
	
	To play, stoppers in both Opp’s suits

	
	
	4m
	
	PRE

	
	
	4m’/4H
	
	RKC, trump=m, excluding m’/H (Because Cue suit of Opp)

	
	
	4S
	
	To play


	1M
	2N(opp) 
	
	
	2N=2m

	
	
	X
	
	(1) Want to punish 1m or 2m of Opp
(2) Then bid 3M=3 card M, INV
(3) Want to play NT, X first. Then Cue ask stoppers

	
	
	3C
	
	H suit or fit H, INV+

	
	
	3D
	
	S suit or fit S, INV+

	
	
	3H
	
	H suit or fit H, NF

	
	
	3S
	
	S suit or fit S, NF

	
	
	3N
	
	To play, stoppers in both Opp’s suits

	
	
	4C/4D
	
	13-15HCP, short in C/D, Splinter, 4+M

	
	
	4H/4S
	
	To Play

	
	
	4N
	
	RKC


	1M
	2M(opp) 
	
	
	2M=M’+m

	
	
	X
	
	(1) Want to punish one or two suits of Opp
(2) Then bid 3M=3 card M, INV
(3) Want to play NT, X first. Then Cue ask stoppers

	
	
	2S
	
	(To 1H) 4+ card H , INV+

	
	
	3C/3D
	
	C/D suit, F1

	
	
	3H
	
	(to 1S) 4+ card S , INV+

	
	
	3M
	
	7~9HCP, 3 card M, (same power as 1M 2M)

	
	
	3S/4C/4D
	
	(to 1H) 13-15HCP, splinter, 4+ card H

	
	
	4C/4D/4H
	
	(to 1S) 13-15HCP, splinter, 4+ card S

	
	
	4M/3N
	
	To Play

	
	
	4S
	
	(to 1H) RKC, excluding S

	
	
	2N
	P
	LEB, TR 3C, C or D suit, NF; or fit M

	3C
	
	
	
	

	
	
	P/3D
	
	To play 3C/3D

	
	
	3M
	
	4+M, NF


Cue-bid or RKC reply is doubled by Opponent (not used, only for reference)
When enemy doubles partner’s cue-bid or RKC reply:

(1) Redouble: first control (A or void)

(2) Cue-bid another suit: some control (single, KX(+) or QX(+))

Partner’s response:

(2a) Cue-bid another suit: first control (A or void), or second control (single, KX(+)) (with partner’s QX, solid second control)

(2b) Return to trump: no second control (QX(+) or XX(+))

(3) Pass: no control (two or more small XX(+))

Partner’s response:

(3a) Redouble: first control (A or void)

(3b) Cue-bid another suit: solid second control (KQ(+) or single)

(3c) Return to trump: no solid second control (KX(+), QX(+) or XX(+))

Western Cue-bid (for trying 3N) is doubled by Opponent(not used, only for reference)
(1) NT: Stopper on that suit, but not A

(2) Redouble: first control A

(3) Cue-bid another suit: single or void on that suit

(4) Pass: no stopper (two or more small XX(+)), or half-stopper (JXX, QX)

Partner’s response:

(4a) Redouble: half-stopper (JXX, QX). Then can bid 3N if he also has half-stopper.

(4b) NT: Stopper on that suit

Against Chi-Kuang or multi 2D (not used, only for reference)
	2D
	X
	
	
	13-15 BAL, or 16+HCP UNBAL or 20+BAL

X then 2N=20-22HCP.  Your partner 2N=LEB

	
	Suit
	
	
	Nature(including 3D)

	
	2N
	
	
	16-19 BAL, then Stayman & transfer, 3S= Ask m

	
	3S
	
	
	Suit, semi-strong (one down law)

	
	3N
	
	
	To play

	
	4C
	
	
	55+, C & any other suit, semi-strong (one down law)

	
	4D
	
	
	55+, D & H, or D & S, semi-strong (one down law)

	
	4H/4S
	
	
	Suit, semi-strong (one down law)


	2D
	P
	P
	?
	Same as above, but 2N=15-18 BAL


	2D
	P/X
	2H
	P
	

	P/2S
	X
	
	
	Take out

	
	Suit
	
	
	Nature

	
	2N
	
	
	2 minors (to Pass first)/20-22 (to X first)


	2D
	X
	2M/3A(correct) 
	X
	Take out or PEN (depend on opener)

	
	
	
	2N
	LEB 

	
	
	
	suit
	Nature


	2D
	P
	2M/3A(correct) 
	X
	Take out or PEN (depend on opener)


	2D
	P
	2H
	X
	11+HCP, 4+card H,or T/O for2H.Your partner 2N=LEB

	
	
	
	2N
	15-17, BAL, then Stayman & transfer, 3S= Ask m

	
	
	
	suit
	Nature

	
	
	
	3H
	NAT, 6+card H

	
	
	
	3S
	Suit, semi-strong (one down law)

	
	
	
	3N
	To play

	
	
	
	4C
	55+, C & any other suit, semi-strong (one down law)

	
	
	
	4D
	55+, D & H, or D & S, semi-strong (one down law)

	
	
	
	4H/4S
	Suit, semi-strong (one down law)


	2D
	X
	2H
	P
	

	2S
	P
	P
	X
	Take out (e.g. x  xxxx  J10xx  AJxx)


	2D
	P
	4H
	X
	Take out or PEN, depend on opener 

	4S
	P
	P
	X
	Optional


Against Chi-Kuang or multi 2H (not used, only for reference)
	2H
	X
	
	
	13-15 BAL, or 16+HCP UNBAL or 20+BAL

X then 2N=20-22HCP.  Your partner 2N=LEB

	
	Suit
	
	
	Nature (including 3H)

	
	2N
	
	
	16-19 BAL, then Stayman & transfer, 3S= Ask m

	
	3S
	
	
	Suit, semi-strong (one down law)

	
	3N
	
	
	To play

	
	4C
	
	
	55+, C & any other suit, semi-strong (one down law)

	
	4D
	
	
	55+, D & H, or D & S, semi-strong (one down law)

	
	4H/4S
	
	
	Suit, semi-strong (one down law)


	2H
	P
	P
	?
	Same as above, but 2N=15-18 BAL


	2H
	P
	2S
	X
	11+HCP, 4+card S,or T/O for2H.Your partner 2N=LEB

	
	
	
	2N
	15-17, BAL, then Stayman & transfer, 3S= Ask m

	
	
	
	suit
	Nature

	
	
	
	3S
	NAT, 6+card S

	
	
	
	3N
	To play

	
	
	
	4C
	55+, C & any other suit, semi-strong (one down law)

	
	
	
	4D
	55+, D & H, or D & S, semi-strong (one down law)

	
	
	
	4H/4S
	Suit, semi-strong (one down law)


Against multi 2B (not used, only for reference)
	2B
	X
	
	
	13-15 BAL, or 16+HCP UNBAL or 20+BAL

	
	Suit/3B/4B
	
	
	Nature

	
	2N
	
	
	16-19 BAL


	2B
	P
	P
	?
	Same as above, but 2N=15-18 BAL


	2B
	P
	2Y/3Z(correct) 
	X
	T/O or PEN, depend on opener

	
	
	
	2N/3B/3Y/4B/4Y
	NAT but jump 4m=m+M, 55+


	2B
	X
	2Y/3Z(correct) 
	X
	Take out or PEN, depend on opener


以下為參考資料(not used, only for reference)：
對抗Multi/mini-multi 2D開叫

1) 視同對抗2H竄叫（前義大利國手Bocchi-Madala-Duboin所用）
(2D)-2H=自然。
(2D)-P-(2H)-P; (P)-X=處罰紅心。
　
2) 視同對抗2S竄叫（前摩納哥國手Fantoni-Nunes所用）
(2D)-2S=自然。
(2D)-P-(2S)-P; (P)-X=處罰黑桃。
3) ACBL推薦對抗方式1
X=對黑桃迫伴。
2H=對紅心迫伴。
2S=自然。
2N=16-18 HCP強無王，後續同2N開叫。
3m=自然。
3H=自然。
3S=自然強牌，同伴叫4H是配合黑桃的巧叫。
4C=5張以上梅花帶一門高花。//4D是詢問哪一門高花。
4D=5張以上方塊帶一門高花。//4H是派司或修正。

4) ACBL推薦對抗方式2

X=13-15 HCP平均牌或任意強牌。

2H=自然

2S=自然。

2N=16-18 HCP強無王，後續同2N開叫。

3m=自然。

3H=自然強牌，同伴叫3S是配合紅心的巧叫。

3S=自然強牌，同伴叫4H是配合黑桃的巧叫。

4C=5張以上梅花帶一門高花。//4D是詢問哪一門高花。

4D=5張以上方塊帶一門高花。//4H是派司或修正。

2nd seat simple overcall (not used, only for reference)
	1A
	1Y/2Z
	P
	New suit (not jump)
	NAT, NF, but developable 

	
	
	
	CUE(2A)
	FOR. If passed hand, fit Y/Z, INV

	
	
	
	J new suit (3B)
	INV, if passed hand, Y/Z and B 4+5

	
	
	
	J CUE(3A)
	INV to Y/Z game, 4 card Y/Z

	
	
	
	2N/3N
	NAT


	1B(opp)
	1S
	P
	3B(jump)
	Jump 3-level Cue, 4+cards S, same as good Bergen

	
	
	
	2B
	FOR, fit S, or strong with any shape

	
	2S
	
	
	Weak, 7-10 HCP

	
	Other
	
	
	More than 11 HCP, normal overcall

	
	
	
	2S/3S(not jump)
	10~12 HCP, slight invitation

	
	
	
	3S(jump)
	12~13 HCP, strong invitation

	
	
	
	New suit
	14+HCP, natural, forcing


	1B(opp)
	1S
	P
	2B
	

	
	2S
	
	
	

	
	
	
	P
	Less than 14 HCP

	
	
	
	3S
	14+HCP, invite 4S

	
	
	
	New suit
	14+HCP, natural, forcing


	1D
	1H
	P
	1N
	

	P
	2C/2D
	
	
	Free, NAT/(if 1D guarantees 4 card, bidding 2D is 16-18HCP, CUE, FOR )

	
	2S
	
	
	Free, Max

	
	2N
	
	
	INV

	
	3C/3D
	
	
	Same as 1H  1N  3C/3D  5-5+, 14-15HCP


	1D
	1S
	P
	2H
	

	P
	2S/3S
	
	
	Better S suit / INV, 13-15HCP, good 6+card

	
	2N/3N
	
	
	Free, 12-13HCP/14-16HCP, D stopper

	
	3C
	
	
	Free, 12-13HCP, NAT

	
	3D/4D
	
	
	FOR, INV 4H, short in D / Splinter fit H, Max

	
	3H
	
	
	INV


	1H
	1S
	P
	2H
	Cue

	P
	2S/3S
	
	
	Free, 5+card, Min / 6 card, Max

	
	2N/3N
	
	
	Free, H stopper 10-12HCP / 13-15HCP

	
	3C/3D
	
	
	FOR, Max, with feature in C/D

	
	3H
	
	
	FOR, Western CUE, Max


	1D
	1S
	P
	2D
	Cue

	P
	2H
	
	
	Second suit, may be still weak

	
	2S
	
	
	Weak

	
	others
	
	
	Strength for normal opening


	1B(opp)
	1H
	P
	Others
	For B=any suit, all are the same as we opening 1H, including HCP and shape

	
	
	
	2S
	7-12, mini Splinter

	
	
	
	2N
	Jacoby, 13+, 4+H, no short

	
	
	
	3C/3D
	Bad Bergan (7-8 HCP)/Good Bergan (11-12 HCP)

	
	
	
	3H
	Pre, 4+H

	
	
	
	2C
	Reverse Drury, only changed convention for overcall 1H

	P
	2H
	
	
	At most 10 HCP

	
	2D
	
	
	11+HCP, any shape

	
	
	
	2H
	Invite, should exactly 3 card H (not GF)

	
	
	
	2N
	Invite 3N

	
	
	
	3H
	GF

	
	
	
	New suit
	GF


	1B(opp)
	1H
	P
	2C
	

	P
	2H
	
	
	At most 10 HCP

	
	
	
	3H
	Invite, should exactly 3 card H (not GF)

	
	
	
	2N
	GF

	
	
	
	New suit
	GF
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